FRk27FE BHMSELE— ’7E|$zi\=z(20150919m 4)

BE H = NO H%Fg'i _z;rgz(zo/ S N—2) R_1 ARl [ _AR2 | No. E=
1 9:30] %R 3 B i B | B [ 1
2 | 10:20] w8 3 0| 5 D iR | R |2
KEABEA | 3] 11:10
8A29B (L) | rxume R[4 [ 12000 @ | 11| 1] BR | BE | = | & | 4
5| 12:50] & 0 1| #8% | &R [i] iz} 29
6
T 930 AtE | 6 || 0| &5 | %R | %R | 2% | 5
KBAEA | 2| 10:20] %R | 2 5 | BF | KB | KB | #8& | 6
(A& % RY[ 3| 11:10] X4 | 2 12| RETY | =% | 8 | %R | 8
9858 (1) 4 | 12:00] % | 1 7 | % | AHETY | RETY | KiB | 32
5| 12:50] #R [ 0 5 [ RETY | #8% | &5 | £F | 10
6
7 — — —
1 9:00| B~ | 1 2 B | AHTW | ARHETY | AHETY | 11
ELimss | 2 9:50( AHATY | 9 0 |AEIW| ® |msyE|MyE]| 12
[A&p:-Fa~ )| 3 | 10:40| %R | 1 2 | XiR 7 | RETW| 7 13
0F 128 (+) [A&:% RI| 4| 11:30| v | 1 4 i} KB | KR | #R [ 14
5 | 12:20] AHETY | 10 [:] 1 ¥ |myE| & [i] 15
6 | 13:10| #iR | 4 1 | RETW| KETY| R 3 16
7| 14:00] K48 | 2 4 i} 7R | RETW | ARETW] 17
8 | 14:50 _ _
1 9:00[ = 3 3 [ AEIW | Bar | my R ]| R | 18
fELFEE | 2 9:50[ %R | 3 3 |y | AEIW| E Ed 19
0F 138 (B) [A&:-Fa~E)| 3 | 10:40] K4E | 8 1 i HER | MR [myE| 3
[R&p:% RY| 4| 11:30] @ 4 1 | ARETW | ABETY | KiR Ed 20
5 | 12:20| FEax & | 4 4 | KiR 7 [ RETW| 7 21
6 | 13:10] # | 0 7 | AETY | KR | KR [mIvF| 22
1 9:00|F~ K] 0 3 [ LFF | =F i 78 23
#HTLCA 2 9:50) &H | 5 3 i [ <FE[<F1E | FErE| 24
(RER:Fa~E)| 3 | 10:40
4| 11:30| @grE| 1 6 | EFH [} f | <F(E| 26
9R19H (L) 5| 1220 <F1x| 2 |-| 1| 7@ |fmrE|@rE| &% | 27
6 | 13:10
7 | 14:00
8 | 14:50[ _
1 9:00| &MY ErE[<FIE | R [KFFE] 33
98218 (A) ZTLZA 2 9:50[ <F'I& #R | B | RETY | KETY | 28
[R#R:#%R] | 3 | 10:40] &EFH AETY [ <FIE | <F1E [ #EE | 30
4 | 11:30] <FI& 3 A | AETY | RETY | 31
5| 12:20| B4 iR £l B O|LFIE]| 25
6 | 13:10] = 28 | R | R | BE | 9
7 | 14:00
8 | 14:50 _ I
1 9:00[ #EX FIE [ ABTW]| FF | F5 [ 34
98228 () HTLCA 2 9:50| EEF AETW| <F(F | #8& || 38
(&% :-m~sE)]| 3 | 10:40] =& 75 =% | £5 | AEW| 7
4| 11:30| EE% AETW| D ] 36
5 12:20] <FI& R | B8% | KETW )| #8% | 37
6 | 13:10
1] 9.00]<T 1% RAR | ABTY | #85 |pas | 39
98260 (1) e beifiim | 2 9:50 #EA ABRTY | KB | KB | <F(F [ 40
[R&:-msE)| 3 | 10:40| Bv & AETW | EBE | ARHETY | RETY [ 41
4 | 11:30| <F'I% AHETY [ KR | KB [ RETW| 42 I8
5 [ 12:20] kiR AETW | ARBTY | <F'1E | <F(X | 43
6 | 13:10| Ear & B | RETW| KR | AETW| 44
9.00] <J 1% ABIW| =8 | A5 | =8 | 45
98278 (A) BE L3RS 9:50[ & KB | <F1E | <F'I& | AETW| 35
[ARED: #%R] SELBRR)— ’J%E(,ﬁ,ﬂiﬁ) =X

(S0 BN KVR | O R B




